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a1 1| 25 ug 3 Mg
O Z d¥(243€ 7F)
(=k2 : mm)
7|2+ 244 £ 2428 24 3¢

A oA 2o [H[&E(%) Hd 2o H[E(%)| "4 2ol | H[E(%)
8 = 112.1 171.0 1526 329 883 | 2684 50.8 56.9 1122
=2 101.2 1226 1212 29.1 672 | 2304 46.6 410 88.0
otM A 985 1446 146.8 258 82.7 320.6 473 35.1 74.0
=Ss 111.1 189.7 170.7 327 28| 2843 51.8 72.5 140.1
oy 132.1 190.9 1445 378 84.4 2231 58.3 76.9 132.1
Ej 5+2ZF 1479 | 2229 150.7 430 102.2 2375 65.8 79.9 1215
a2 & 1176 2042 1736 34.6 1032 | 2984 51.7 56.6 109.3
AoH 103.8 1932 186.1 27.6 1193 | 4327 46.9 36.3 775
L Ay 1272 2458 1932 39.2 116.1 296.4 52.9 74.8 1415
=3 134.3 247 .4 184.2 40.4 1139 282.1 53.3 725 136.1
Nz 143.0 253.7 1774 450 136.4 3034 61.1 789 129.1
o 147.2 229.6 156.0 46.1 114.8 249.2 61.8 737 119.2
Bz 153.0 268.1 175.2 46.3 151.8 328.1 728 70.0 9.1

« (BX) 714E 690 2ELX I|E c gy iy Z=u| 20| JHE HE2 A

’

o 71737 3/0Y (2449 ~2469)

28 yse y#7|2

24048 | HA(70.3~99.3mm) 1} H|ZSIAHLL BS HHA(11.6~126TC)2Ct =3

24,058 | E'A(79.3~125.5mm)1} H| = HAN170~176TC)ECct =2

'24.068 | EA(101.6~174.0mm) 1} H| =

oF!

H@21.1~21.7C)2ct H|ZstAHHY =2




A al a3
A1 2| H: ug ¥ 33N
O A I (u3gT 71F)
(k| @ seim?)
T ChE & EIgSE2C MZT ST SUEXFA|
o | BB o | HIB o | BB o | BB
—_r"|_-l o 01[ L‘j %OH (o/c; O:” Lnj %OH (%) 01[ L‘j %OH (o/o) O:” A %OH (%)
A [5896.8 (9,779.0 | 1658 |1,139.8 [1,300.6 | 114.1 | 191.6 | 307.2 | 160.3 |1,960.6 [2,126.0 | 108.4
st2t 26620 4,306.0 | 161.8 (1,1355 |1,2962 | 1142 | 142 | 172 121.1 | 3051 | 3266 | 107.0
52 1,360.5 2,609.0 | 1918 | - - - 164.4 | 2602 | 1583 | 4856 | 507.0 | 104.4
22 12054 [1,7980 | 1492 | - - - - - - 409.0 | 432.1 | 105.6
HAhZ | 6689 [1,0660 | 1594 | 43| 44 1023 | 130| 298| 2292 | 7609 | 860.3 | 113.1
w [ER2 olMH, [HEZ]e galzbElai (e NI, [gae viEY, a8, MEiZ o el oA Aldg =3
- A
e g s
79 7El R (84 @kme) (%) oY (m*/%)
Sl HA | ER | 2 Al
() | ELM) | ELM) | & BA g e | M) | wm | 2o
Mgk | MRk | T - = -
s A 12923 | 9775 | 76 | 44 | 247
5 |22 | 2703 | 1980 187.8 | 2900 | 2229 | 77 | 43 | 389 0 0
oy LB F 6648 | 1450 1387 | 2750 | 2002 | 73| 43| 159 0 0
- 18 M| 209 | 1800 1776 87 75| 8 | 46| 116 | 06 0
ob = | 1584 | 1617 1569 | 1,248 | 1,049 | 84 | 42 | 299 0 0
el 5| 1,361 | 1647 158.6 595 460 | 77 38 | 215 0 0
M o] 413 | 3649 359.4 28 22| 77| 48| 30| 06 0
L. =P 5000 | 164.0 151.6 181 66 | 37 39 | 470 | 88 0
o L@ %l | 875 | 2051 198 49 32 | 66 39 | 409 | 15 0
2, | Zeest | 820 | 1986 1917 54 41 76 | 49 | 371 1.8 0
|2 | 326 | 2385 231.5 22 15| 66 32 | 564 | 05 0
st ™| 925 | 1790 1735 790 673 | 85 | 41 | 279 0 0
Lh Zb | 2285 46.0 409 309 185 | 60 39 | 141 | 966 0
L ot | 954 | 2102 2055 74 66 | 89 53 | 224 0 0
2 | & =] 930 | 2655 259.8 815 625 | 77 | 46 | 455 | 269 0
Z o ® | 3204 80.0 768 | 1,490 | 1090 | 73 54 | 217 | 1059 0
M| M| 783 | 1977 196 466 384 | 83 | 48 | 228 22 0
| F o] 1145 | 1105 105.7 707 514 | 73| 42| 323 | 129 0
o Tt 59 438 41.3 50 42 | 83 56 | 254 0| 27
e |2 E].1636 755 735 117 83 | 71 37.|..170 0 0
¥ 5] 193 82.8 755 191 126 | 66| 43| 683 0 0
T 1) LU Y FR0AM A SFANK HESholl et dTFREE 50%)
2) dFH2 ES3A Moz AMEEST &



59
Mgk =1 &
e Al A (4 2hm) (%) o (m/
T 2 o | gk | 9 g
km? = P = A
( (ELm) | (EL.m) et | Aazs Sx | o | (MM | aa
A 444.9 307.2 69 42 455
gt g 125.0 672.0 672.2 13.1 9.8 75 56 95 0
z Etat 29.4 112.0 112 8.7 74 85 67 442 0
=Rl 235.0 156.8 152.6 103.2 70.6 68 35 399 0
oFA| 6.7 43.9 39.6 18.5 9.2 50 59 | 2,790 - 0
4 3.7 40.0 39.1 2.6 2.1 79 56 467 - 0
Lt == 301.3 145.0 146.5 160.3 121.1 76 42 421 0 0
- oH= 57.5 120.0 118.3 36.2 26.7 74 25 281 0 0
; AtA 67.0 60.0 50.1 30.3 9.6 32 29 876 - 0
< CH 2F 7.0 48.5 48.6 13.1 6.8 52 39 596 - 3.1
Mef 1.2 30.0 28 2 1.8 89 82 956 - 0
AxE 11.7 48.0 47.1 5.2 3.9 75 48 714 - 0
T 12.7 93.0 90 10 8.4 84 61 724 0
T 49.0 64.0 60.9 31.3 21.3 68 58 844 0
g 19.9 109.7 109.7 10.3 8.5 82 52 368 0.4

[=]
2L @AM AEFANK HeS2holl sl dets dTFEE 50%)

a2
et e g ag I
&7 R (2 2km) (%) a2 (m/Z=
T = Heke | mm
(ELm) | ELmM) | & A | o | 7ER | 2E
A=k x| 42k 70% (=[E
Z A 1,550.0 | 1,300.6 83.9 68.3 | 273.6
2 A 175.0 174.4 917.1 736 80.3 51.5 152.1 224
= d 102.0 102.4 139.3 125.7 90.3 93.5 25 64.1
e of ¢ 70.5 70.7 85.7 74.5 87 AN 56.8 69.1
g3 43 50.0 50.5 162.7 149.1 91.6 92.8 8.6 | 1258
o & 134.0 133.3 1.5 8 69.6 63.3 74 14.6
z o - 25 230 202.9 88.2 94.1 17.7 | 376.1
MrlzZb | EAMZ 126.9 126.3 5.6 44 79 73.9 6.1 8.7




o AF FFA (2448 ~2469)

(ck2 : m¥/s)
04,48 '245% '24.6%
T2 RS
ofd | 28 |[bvl8 | od | 23 |68 | od | 28 | HE(%
2| (e gk m) 2414 | 4736 | 1962 | 3472 | 4529 | 1304 | 3901 | 5185 | 1329
chexo | 1659 | 3572 | 2154 | 2206 | 1568 | 711 | 2650 | 155.0 58.5
ooy | BFE 1.1 07 | 613 1.1 1.0 915 1.3 0.8 61.2
- sbMcd | 5290 | 10203 | 1929 | 7664 | 9794 | 1278 | 8437 | 11734 | 139.1
SRS - 1.1 - - 25 | - = 22 | -
chExc | 1009 | 1063 | 1054 | 1256 92.1 733 | 1732 | 1255 | 725
ey | BT 16.6 174 | 1049 17.7 17.4 | 982 19.0 193 | 1012
T wEy | - - - - - - - - -
SRS - 12 | - = 12| - = 1.2 =
CH2X | 676 685 | 101.2 | 906 814 | 898 | 1113 | 854 | 767
25 | BFH | - - - - - - - - -
aEy | - - - - - - - - -
X 5= K| - 101.1 - - 1573 | - - 1802 | -
CHEM | 417 605 | 1450 | 638 | 466 @ 73.1 69.3 | 509 @ 735
oiatzt | STH 36 41 | 1137 4.1 48 | 1166 4.6 52 | 1117
b2 i 49 45| 918 6.6 5.1 77.3 17.4 78 | 448
X 5= X| - 843 | - - 1453 | - - 1936 | -
« (B2 oMH [HEZie EAZMEls (2212 AnH, [PAZIe oiEZ SR MAIZ 2 ERRIZE 2 AlMe 23
- =AY
(ck2l : m¥/s)
2 04,48 2452 '24.6%
=7 ofd | A= |v2@%)| od | A= vg@)| od | A= | 2%
A (8 gkm) 9749 | 15357 | 158.0]1,340.8 | 1,0005| 75016038 1,0804 | 67.0
Aokt 514 1600 | 311.0| 668| 447| 670| 744| 447 600
sz £ = 111.9| 1900 | 1700| 1496| 1082 720| 1857 106.1| 570
3 A 26 72| 2790 4.2 39| 930 49 42| 860
oF = 216| 216| 1000| 322| 324| 1010| 456| 480| 1050
of 3} 16.1 170 1060| 205| 152| 740| 258 160 620
M oo 0.5 06| 1320 0.6 07| 1170 0.6 09| 156.0
2 9 0.8 14| 1730 1.0 09| 890 1.0 10 9.0
=z | ZEss 1.3 18| 1370 15 18| 1180 15 18] 1230
5 A 0.4 05| 1350 0.3 05| 1490 0.4 05| 130.0
3 A 65| 50.0| 3030 190| 172, 910 21.1 194 | 920
Loz 418| 107| 260| 478| 207| 430| 740| 348| 470
ol of 19 27| 1400 26 27| 1050 3.2 31| 9.0
- o 2 o 192 | 274 | 1420| 219| 67| 760| 216| 167| 770
- c of = 455| 379| 830| 651 610 940| 855| 65.1 76.0
P F oo 213| 30.1| 1410| 303| 151| 500| 333| 165| 500
see M F 163 211 1290 287| 276| 90| 286| 285| 1000
B oo} 1.0 13| 1350 1.1 16| 1430 1.2 13| 109.0
7| oy 29 32| 1120 36 37| 1030 4.2 36| 860
2 B 3.1 80| 257.0 36 23| 640 6.2 46| 750




- g
(ck2 : m¥/s)
2 244 2454 24.64
T ofd | A= | we | od | A= | ve | od | A" | e
Hl (4 Tkme) 551 57.4 104.0 61.3 62.0 101.0 64.8 65.5 101.0
- 2 = 0.8 0.4 49.0 0.6 0.6 105.0 0.9 05 54.0
== 0.4 0.3 87.0 0.5 0.4 74.0 0.5 04 75.0
q A 6.5 7.9 121.0 6.9 7.8 113.0 77 9.3 121.0
4 = 0.1 0.0 35.0 0.0 0.0 67.0 0.1 0.0 51.0
T = 46 40 87.0 51 45 88.0 55 48 87.0
Al CH = AFd 1.5 1.9 122.0 1.9 1.9 99.0 2.0 1.9 91.0
oy et 3.3 3.2 97.0 3.2 2.8 87.0 3.1 2.8 91.0
o4 = 0.2 0.1 55.0 0.3 0.2 61.0 0.3 0.2 62.0
= A 0.3 0.2 80.0 0.3 0.2 79.0 04 0.3 70.0
MRZL = 0 3.3 3.8 115.0 3.7 45 120.0 41 47 115.0
o M2 4 0.3 0.3 100.0 04 0.3 86.0 0.5 05 86.0
sk
(ck2 : m¥/s)
2 244 2452 '24.6%
T of Ag | vlg% ]| od AE | v | od | A= | HE%)
A 1,383.9 | 2,656.3 191.9 | 2,070.4 | 2,636.9 1274 | 2,232.0 | 3,061.7 137.2
=S| 26.8 452 168.7 434 452 1041 442 452 102.3
= 38.1 547 143.6 58.7 57.7 98.3 62.4 63.8 102.2
2t of et 92.5 218 235.7 131.2 230.9 176 145.2 252.3 173.8
Hg 1175 2473 2105 164.2 262.3 159.7 182.7 290.1 158.8
| A 7.7 3.9 50.6 8.8 3.3 375 11.3 49 434
et 246.4 4512 183.1 360.1 380 105.5 397.9 5171 130
MEZE | EMY 49 45 918 6.6 5.1 77.3 174 7.8 448
fofid AR :01~23d WNE & wRIUHLRIHSEURY) ANMKR



-

rok

|'0
0z
2

2448 24 5¢ '24.6¥

ERE 2E ofd | A=
gl 3km?) 486.6 820.522 - 1977570
e 0.057 0.029 - 0.004
== 0.058 0.058 - 0.004
= At 0.000 0.000 - 0.000
o= 0.000 0.000 - 0.000
HEA| 0.069 0.069 - 0.005
s 0.018 0.175 -/ 0.193
| 0.067 0.214 - 0243
= 0.103 0.209 -1 0317
Ry 0.200 0.777 - 0784
HE 0.202 0.156 -1 0.019
zt2 0.057 0.034 - 0.004
>4 0.112 0.388 - 0448
En 0.158 0.413 -| 0.157
nks; 0.000 0.000 - 0.000
= 0.000 0.000 - 0.000
71E 0.000 0.000 - 0.000
ol = 0.000 0.000 - 0.000
olE 0.000 0.000 - 0.000
It 0.093 0.093 - 0.093
A= 0.016 0.016 -/ 0.016
= 0.007 0.007 - 0.007
| 0.023 0.023 - 0.023
M (=t 0.021 0.021 - 0.021
=1 0.074 0.074 - 0.074
282 0.016 0.016 -/ 0.016
CHA 0.050 0.050 - 0.050
== 0.055 0.055 - 0.055
=™ 0.018 0.018 -/ 0.018
Al 0.021 0.021 - 0.021
=35t 0.047 0.047 - 0.047
A7t 0.044 0.044 - 0.037
A A 0.063 0.063 - 0.063
Al et 0.036 0.036 - 0.036
=35t 0.000 0.000 - 0.000
&3 0.021 0.021 - 0.021
2E| 0.012 0.012 - 0.007
=S 0.034 0.034 -1 0.034
=M 0.031 0.031 - 0.031
=91 0.041 0.041 - 0.041
=2t 0.024 0.024 - 0.024
= 0.031 0.031 - 0.031
291 0.097 0.097 - 0.097
o 0.073 0.073 -1 0.073
=X 0.036 0.036 - 0.036
x4 0.069 0.069 - 0.062
Tl 0.013 0.013 -1 0.013
P 0.033 0.033 - 0.033
4 0.018 0.022 - 0.032
=hxt 0.009 0.010 -1 0.016




2 24,42 '04.5¢ 24,64
B ofd | AE || od | AHAZ |H2%)| o | A |6 (%)
EES -1 0024 - -1 0026 - -1 0.043 -
7tel - 0.000 - - 0.000 ~ -1 0.000 -
Fut - 0.000 - - 0.000 - -1 0.000 -
iAo HE -1 0.000 - -1 0.000 ~ -1 0.000 -
Se ex -| 0000 - - 0.000 - -1 0.000 -
S 0.163 0.379 0.278
o= -1 0204 - -1 0885 - -1 0565 -
x| 2 (ko) -1 0.149 - -1 0512 - -1 0341 -
=X -1 0.101 - - 0508 ~ -1 0317 -
Alekgl -1 0127 - -1 0189 - -1 0.160 -
2 -1 0.020 - - 0.108 ~ -1 0067 -
= -1 0036 - - 0092 ~ -1 0.066 -
AE -1 0.059 - -1 0081 - -1 0260 -
Fzg -1 0075 - -1 0183 ~ -1 0336 -
Abz - 0463 - -1 0535 - -| 0646 -
AHEH -1 0013 - -1 0336 - -1 0317 -
= - 0.098 - - 0403 - - 0482 -
HH - 0.180 - - 0444 - -1 0560 -
H| 2 -1 0187 - -| 1546 ~ -1 09% -
CI3= - 0137 - - 0253 - -1 0379 -
2t - 0082 - -1 0326 — -1 0332 -
ul =2 - 0699 - —| 1842 - - 2692 -
o 2l et - 0255 - -1 0947 — -\ 1277 -
== = -1 0.001 - -1 1.201 - -1 0269 -
ols - 0970 - -| 2687 - -| 2595 -
AT - 0076 - -1 0289 - -| 0455 -
SHA| - 0.040 - -1 0138 - -1 0.164 -
201 - 0.145 - -1 0.469 — -1 0344 -
<@ = -| 0074 - -1 0919 - -1 0803 -
2 of - 0070 - -1 0515 - -1 0373 -
== - 0052 - -1 029 — -1 0214 -
X of - 0.060 - -1 0201 - -1 0.189 -
SHX - 0.061 - -1 0076 — -1 0343 -
A} - 0215 - -1 0625 - - 0584 -
=2 - 0067 — ~| 0442 ~ -1 0211 -
EFx - 1935 - - 5907 — - 49% -
HE -1 0.101 - -1 0521 - -1 0387 -
Al -1 0472 - -1 0539 ~ - 0397 -
o2 - 0.154 - - 0591 - - 0447 -
=8 -1 0321 - - 1134 ~ -1 0735 -
2L = - | 74.400 - -1 91.300 - - 1107.300 -
T -1 0065 - -1 0248 - -1 0179 -
Alry - 0.067 - -1 0203 — -1 0262 -
MIAE | OB E) -| 2615 - - 7373 - -1 5319 -
29 -1 0303 - -1 0802 ~ - 0846 -
AT - 12727 - -1 19.123 - - | 33.068 -
o= -1 0201 - -1 0999 ~ -1 0872 -
e<Eol -1 0528 - - 279 ~ -1 2015 -
2LMsH = - 0050 - -1 0408 - -1 0294 -
M - 0257 - -1 0980 ~ - 0857 -
o 5 x| -| 2370 - - 6993 - -| 5667 -
e - 0063 - -1 0893 - - 2291 -
oAb =R - 0.391 - - 0411 - - 1.051 -
e -1 0153 - - 2413 ~ -1 6.220 -




2 244 245 '24.6%
old | Az ol | A old | Az

= — 0064 —T 1.189 —1 3084
o = - 0611 - 0643 - 1475
nhz -1 0138 - 0.146 - 0228
w2 -1 0192 - 0217 -1 0505
2= -1 0052 - 00860 - 0157
et -1 0113 -1 0118 -1 0.185
=] -1 0137 - 0.146 - 0321
ol A - 0064 - 0087 -1 0230
A -1 0165 -| 2828 - 7313
x| -1 0210 -1 0220 - 0480
4 oF - 0048 -1 0670 -1 1719
PN - 29.300 ~| 55400 - | 95.300
%ots - | 37.400 - | 42500 ~ | 49.000
253 - 9400 -1 13.000 - 8700
7N -1 0171 - 0254 - 0671
=53 -1 0058 -1 0516 - 0301
e -1 0090 -1 0310 -1 0580
24 -1 0359 - 04372 -1 0578
w2 - 0065 - 0147 -1 0086
9E - 0082 - 0105 -1 0.165
g2 -1 0.101 - 0946 - 0549
Bt -1 0367 - 1.081 - 0751
5= -1 0010 - 0174 - 0450
=3} -1 0718 - 3657 - 2276
S -1 1019 - 2531 -1 1.0865
o - 0629 - 3374 - 2084
237 -1 0050 -1 0250 -1 0.150
A -1 0018 - 0022 -1 0032
c} of - 1418 - 6443 - 3349
3 -1 00865 - 0604 - 0351
=4 -1 0290 -1 1120 - 0652
3= - 0321 - 2475 - 1275




o

g
r
02

A1 3| e o

O 3 A (2439 7F)

7|2k 243 ¢ 2424 2438

1o
gl__l

Zo XA ofd HIZ(%)| old | S2al [8IE(%)| old | S8 | HIE(%)

HF (=R, dotzgm) 101.1 | 1402 | 1386 946 | 1548 | 1635 | 108.0 | 149.6 | 1385

et (Es, Zeiim) | 1778 | 306.7 | 1725 | 1721 | 361.7 | 2100 | 201.3 | 316.1 | 157.0

AT (M7, "™ D) 96| 168 1745| 98| 176/| 1787 | 100 | 129 | 1290

5t

o, | F oy, asm) 4.1 56| 1368 | 42| 81| 1925| 40| 42| 1029
M (g8, 220) 5.1 95| 1876 | 44| 125 281.1 58| 104 | 1729
o (ym, v 2d D) 329 37| 92| 316| 380 1202 | 373| 333| 894
HEl (oMM, 22m) 41| 153 3718 | 46| 220/ 4762 | 39| 123 3123
ol M (25, M=) 621 | 59.1| 952 557 | 707 | 1270 703 | 59.1| 841
Fol(es, 28D 584 | 775| 1327 | 546 | 936| 1713 | 672| 861 | 1282
2 2(=s s2octal) 670 | 959 | 1432 | 625 | 1158 | 1854 | 805 | 1062 | 132.0

L}

= | DYEs 1yn) 830 | 1367 | 1647 | 737 | 1683 | 2283 | 1029 | 1625 | 1580

N

HHER Mz 903 | 1873 | 2074 78.8 | 2287 | 290.3 | 1122 | 2151 | 1918
gekEg, Azl 12905 | 2565 | 198.1 | 1159 | 3353 | 2894 | 1590 | 2816 | 1771
LT, attxim) 160.7 | 3352 | 2085 | 151.0 | 4324 | 2863 | 1879 | 366.6 | 195.0
SHESF, olgdm 23.7 49.0 | 207.0 21.7 65.0 | 299.9 29.5 462 | 156.6
ST (R, 32D 539 | 1089 | 2021 553 | 1255 | 2271 56.0 | 1358 | 2422
a | FoEs 4MD) 676 | 1292 | 1911 715 1853 | 2173 69.3 | 1574 | 2271
z O & (A, A7) 10.6 172 | 1627 10.1 224 | 2228 11.6 14.7 | 1266
MEAl(alzH, gatm) 18.0 36.7 | 204.1 17.7 499 | 2813 18.8 31.7 | 1688
ORMAl(Z A, Bhfictal) 4.1 8.0 | 1983 4.1 99| 2392 4.0 72| 1835
Joc\i TR I 10.8 134 | 1246 10.9 18.6 | 169.7 12.1 13.1 | 108.1
I7;t L (25, U3Edim) 24.9 406 | 163.3 25.1 62.1 | 246.8 28.3 359 | 126.7
" SdER 33D 9.8 271 | 2754 10.3 40.6 | 3928 11.5 240 | 207.9
g S (=R, oam) 16.3 38.0 | 247.6 15.5 570 | 367.0 17.8 33.5 | 1882
< TeH(2R, sy 26.2 50.8 | 1939 26.8 746 | 2782 30.2 456 | 150.0
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20
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TI20 | 20| 20|20 | 20|20 0[]0 |3 |20 30|30/ 0000000 ] 0] 0|0
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